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QUESTION 1

How many orchestrators may Dual-Site include\\'\\' 

A. 2 or 4 

B. 2 

C. Only 4 

D. 1 

Correct Answer: A 

 

QUESTION 2

What is an uplink interface used for? 

A. To connect in between Orchestrators 

B. To connect appliances to customer\\'s infrastructure 

C. To connect Orchestrators to customer\\'s infrastructure 

D. D.To connect in between appliances 

Correct Answer: B 

 

QUESTION 3

What cannot be learned from the output of lldpctl? 

A. Distribution mode 

B. Orchestrator\\'s IP 

C. Serial number of Appliance 

D. Appliance model 

Correct Answer: A 

 

QUESTION 4

There is a Security group of 10 Appliances and all of them are up and running. How many Appliances within a Security
Group keep the same connection in its connection table in case of NAT? 

A. Between 2 and 4 
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B. 3 

C. All 10 

D. 2 

Correct Answer: A 

 

QUESTION 5

Complete the sentence: When using a Break-out cable... 

A. All tails of the break-out cable must represent the same type of ports 

B. All tails of the break-out cable must represent uplinks 

C. Each tail of the break-out cable represent an independent port 

D. All tails of the break-out cable must represent downlinks 

Correct Answer: C 
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